PL-3.2(SEHD RB-100¢SS400>

PL-9($5400) #60
i N I
g RB-50(5450) |1 |
=1 -
U—Li—l
PL-2.3(SEHD)
1900
[-1P5X65X6XBSS400)
PL-2(SUS304) L-75X75X6(SS400)
TIANT N
10-Mi2 / S 035 m/s _
1 T
e
e [ @JV =
=1 &3] g
PL-12(SS400) A= o Zleg |
: : PL-2.3(SEHD)
f X6(SS400)
o L
L -40X40X3(S5400) -
S
_L=75X75XE(SS400) PL-23GEHD) -
[-1P5X65X6XB(SS400)
| i
500 700
930 1300 610




25.06




70 110

22 10

10
10
0.07 m/ 702/
101.5




22 11

11
11
0.09 m/ 0.07 m/ 708/

125.6

10




12

22

12
12

602/

0.06 m/

125.5

11



22 12 —

12
12
0.10 7/ 1002/

2.2

16




22 11 —

11
11
0.63 m/ 0.20 m/
2002/
3.4

15




22

10

10
10

0.23m/
0.18 m/ 1802/

3.1

0.17 m/ 1709/
2308/

14




TNt

[CRLET]

LT

L |

Y

=1

_ [CRLE]

Ny

xx ——— ——
£t =dn 005 Ecdg
0oz
00Z:1=5 &
mil=1=% H
ey

1 }4.\\ Blcag- X
G,

8

o 00z

o R ELE

13



50
80 40

40

L-65X65X6(SS400)

4] 9]
L-50X50X6¢SS400) \
g 3 S, PL-9(SS400)
= B
NN PL-2(sUS304)
w0 | ez
At l¢]
120 &l
400 1400
PL-9(S3400) 2
%) - PL-12(SECO)
RB-50(58400) RB-25450) 4
W |
RB-16 "
| —— = R i S|
S ) ( _ W
Lo =3
)

i L-25X25X3(SS400) J el PL-2.3(SEHD)

12



U-450

450 > 450
3
35
=< 1.0 40 > 15
J 1012 9
4 &
2! PL-9(SS400) &l
20 PL-2(SUS304)
g% L-50X50X6¢SS400)
Ty
H _PL-9(S8400)
N ; PL-12(SS400)
= [
P E—

180 1500
Il l PL-2.3¢SS400)

17



B
g & 2 Fo 5 - .
0 2 i Some @
[V g 4] [, o e, ] [ I
o oo e e e e | = e |
& 2 B fhchiih i@ @ ETL7n
m o 5 B2y e 2 -
Lz
SEE T
Rl
N
_ =41t
1
\\B\ 0003151
] — oz
=
— =
e T
=) ﬁﬁﬁ
dooy 6t 00°0=ds
FO00 & BF B2
00z T
6T
¥6 Er=ds 00 T
EFERrE
CLL:|
™ T I = 1 IS X e o TS === -
m = 41 4_1 .ﬂl 1_1 E
| sy H
— -
B 0z "
“ o] -
1
_ = .
00°0=d%
& B B2
Lo W
i 00T T T = H~ - e
- 08TEE 00z T *m%“ %ﬁ

18



22 10 —

10
10
0.06 m/ 602/
0.09 m/ 902/
0.07 m/ 700/
40 50V
10 28

10 3.8

19




22 11 —

11
11
11 27 12.0 11

0.23 m/ 0.10 m/
1002/
5.65

20




12

22

12
12

12

12

10.8

6.0

12

12

21



500 11/9

26




22 11

11
11
0.49 / 4900/
1 9 12
300.0
11 14
9
11

11 13

204.9
1.28 7/

337 0
500

11 14

200 300

1,2804%/

1173

11/3

25




22 10 —

10
10
0.32 / 3204/

0.30 7/ 3002/
0.32 / 3208/

10 5 228
91.9

24




i)
& E £ Fmann = = ol
[d=] [d=] (=) [ ] o %) oo
.Tl on = Lo Lo} Je=
2 ra L™ R, (" ra
[==] % (==} e e e A ) =] =l
e w bt =E - =
oBCT
SHETH
i o 3
T T T I||I.“ T T T T T wa L |
_ B
]
_ i) 9 L3=10]
_
_ o2 : |
=
— (=1
o
AN
T
=Hd
095 BLIAHR &
oo 6t 00 0=ds
— T EFrpAT
00z T
6T
¥ BF=ds 00c T
E=3-qrH
Xl
R - Ty P X T s

SH H
.

0c
o] ~ s

6 Ef=ds| By
%mmﬁ

=Hd WaR

8 TEE 00T T E
:m " Mm 00z T Emm




1140

94 >x 94 x

500

[

8

oPTT v

\ur T T
s R

€6T 7 8T 7 [333 7/0“:‘« 00S
_ I

oriT

€6T 82T | 61T

00S

00T

S
LI

[N
I
il

T
940

it 28 6

i

22



11/23 11/23

11/23

11/23 11/23

11723

27




22 12 —

12
12
12 3 4 0.96
/ 9602/ 269 0
12 4 5
0.45 / 4500/ 150
0.53 / 5302/ 196.6

1272 1272

12/3

28




12/4

12/8

12/11

12/4

12/4

12/8

12/11

29




e

A
=

< T R R R

1,500

1000

200

L]
i

> 325

@130

B

4w
it 8|
s

30

@220

500




— — TR ||||||||_|||.||_ﬂa.u=| —_— ﬂ:l-l:ﬂ.mq
W \\\.,_th\
v
\\\n.“wrl\ eradll
0g "E2 ¥
B
I | | I ) ) i i ) - T T
~ L g
/ — R =
B \w 00g el
0oz
002z 1=5 A
oolsl=s H
i
15
b E
ﬁ. = Lm i
P £ ®
“, ! e 7 guc3c =
e s }r\m .
e : i \ \..
e e | C l g
n o
: - 00z
m W -mz.-wx. \,.l
i W
E Py & g
o HHELE ) ; .
¢ &
- %ﬁ\
s '
< o

31




22 10 —

10
10

10

10

27

28

70
50 60

0.14 / 1402/
0.17 / 1709/
10

10/19 10719

32




10/28

10/28

10/28

10/28

33




22

11

11
11

11 6
0.30 /

11

11

0.18 / 18042/

3002/

49.3
11 10

1.5

1173

1173

34




11/10

11/10

0.30 3/

11/10

11/10

11/28

35



22 12 —

12

12

12 3 4 0.14
/ 1409/ 2

34.0
18.7 12
12 9
12 4
12 7

36




12/12

12/12

12/12

12/12

37




#

1.

200m

X

W 0.

500m

38




1.

EEH
(1) KER
(2) KETH
(3) KBSk
(4) BEAF

(5) EEEFid

MBS KE

g€ 1. 200m x W O.
0. 500m

0. 200m

0. 3Bm/s

0.da m/s
G

500m

pj ]

2000

S Lo

4000

39




2. BEKkAh
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xFE h=0.2 m

it 1 v=0.35 m/s
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EMEE W25 m
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3. REHA
KEME 0.6 (BEXKENE@ELY)
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2. KEIZTHRETDHFLY
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